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1. Three cousins have ages that are consecutive integers.  The product of the two older cousin’s ages 

is twelve less than six times the sum of the younger two cousin’s ages.  Write an equation that 

could be solved to find the three cousin’s ages and find their ages algebraically. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2. Nancy walks 15 meters diagonally across a rectangular field.  She then returns to her starting 

position along the outside of the field.  The total distance she walks is 36 meters.  What are the 

dimensions of the field? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. A rectangular poster is 12 inches by 4 inches and is surrounded by a frame of uniform width.  If the 

area of the photo and the frame is 180 square inches, find the width of the frame. 

 

 

 

 

 

 

 

 

 

 

4. A model rocket launcher is launched from the roof of a building.  Its flight path is modeled  

       by   ℎ = −5𝑡2 + 30𝑡 + 10   where h is the height of the rocket above the ground in meters and t  

       is the time after the launch in seconds. 
 

a. From what height was the rocket launched from? 

 

 

b. When does the rocket hit its maximum height? 

 

 

 

c. What is the rockets maximum height? 

 

 

 

d. How high is the rocket after 1 second? 

 

 

 

 

e. How long before the rocket hits the ground? 


